[ea1uyoa)

NYSsa|l) Jejiwis 39S

'ane,t//:dnqucgmeo;u

q-ny |

2
2
o
®
£
o
Q
=
o
Q
W
!
N
Q
w0
gl
N
©
I
—
<

ap-ulleg-ny 1|agtey)//:dny Jo sp'ul

Ritp:/ffarbe i u-berlin. e/ BEZO/BEZOLONA. TXT 1.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log (*) CIELABNO standard lightness I*

* Yoc=Yw - nc=100,

I* CiELABn0 =116 (YY) Y3216 (¥,=100,Y,/100<Y<=Y,0)
I*N(3,6)223,* ,(18)=50, % (90)=96

I* =96,01,=3,0, 14=1/3,0=0,33
1*16=49,71 §=115,49 D,=-15,49
1*3,6=22,55[,=49,71, Y;=18

log[i* 1 ]=

Yn=3,6 ! Yy=90

CIELABNO
tristimulus value difference
Yoe=Yw - nc=100,

I* ciELABn0 =116 (YY) Y3216 (¥,=100,Y,/100<Y<=Y,0)
log(dY) = (1/3,0) 10g[3,0¢,/115)] + [1~(1/3,0)] log{)

I* =50, dY,=4,60 dY,/Y,=0,2555 =7
L - - s a s a e O
log(dY)=4,60 m,=0,66 o
7 1
7 7 1
dYe=13,45,y=3 ~ 1ir1/3 0=0,33
dY;g=4,60 S - 115 ,49 D=-15, L) application
dY3,6=1,5% ;=100 dY=4,60 : range

lv,=18
Yn=3,6 ¥ Yy=90

log AY/Y) CIELABNO

_ tristimulus value sensitivity
S=@avr) YotV nc=100
I CiELABN0 =116 (Y/Y;)M30-16  (¥,=100, Y, /100<Y<=Y,o)
log(dY/Y)= log[3,0(Y,/115)] - (1/3,0) log{/Y,,)
= (1/3,0) log[3,0¢,/115)] - (1/3,0) log{)
2035~
* =50, dY,=4,6Q dY,/Y,=0,255
1
(dY/Yy=0,1494y=3,0, 1¥=1/3,0=0,33
(dY/Y)g=0,2555 S=115,49 D,=+15,49
(dY/Y} 6=0,4361 Y,=100 dY,=4,60
y,=18
Ya=3,6 1 Y\y=90

CIELABNO
tristimulus value contrast
Cr_(YIAY) Ync‘YW nc‘loo
I CiELABN0 =116 (Y/Y,)M30-16  (¥,=100, ¥, /100<Y<=Y,o)
log(Y/dY)= - log[3,0(,/115)] + (1/3,0) log{/Y,,)
- (1/3,0) log[3,0¢,,/115)] + (1/3,0) logy)

(Y/d p=6,69,y=3,0, 14=1/3,0=0,
(Y/dY)g=3,91 §=115,49 D,=—-15,49 application
(Y/dY} 6=2,29 Y,=100 d¥;=4,60x range
y,=18
Ya=3,6  Y\y=90

TUB-test chart BEZO; CIELABnO* &

log (*/I* ;)  CIELABNO relative standard lightnessI*/I* |

I h=Yw - -nc=100,
I CIELABN0 =116 (Y/Y)30-16 (¥,=100,Y,/100<Y<=Y, )
I y(3,6)=23 1% ,(18)=50,I* ,(90)=96

I* oo/l ;=1,93,y=3,0, 14=1/3,0=0,33
I* 11 =1,0Q §=115,49 D,=-15,49
I*3 /¥ =0,45,1%,=49,71 Y,=18
log[I*/I* ,]=0, m,=0,43
application
range

1Y,=18

Yw=90

log(AY/AY,) CIELABNO relative

tristimulus value difference
NNy Yoc=Yw - nc=100,

I CIELABN0 =116 (Y/Y) 3 0-16  (¥,=100,Y,/100<Y<=Y, )
log(dY/dY,) = [1-(1/3,0)] log¥/Y,)

dYey/dY,=2,92,y=3,0, 1¥=1/3,0=0,33
dY,g/dY,=1,0Q §=115,49 D,=-15,49
dY; ¢/dY,=0,34 Y,=100, d¥;=4,60
=50, dY,
application
range

Y,=18

Yn=3.6

log [(AY/Y) 1 AYIY),] CIELABNO relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
I CIELABn0 =116 (Y/Y) 3 -16  (¥,=100,Y,/100<Y<=Y, )
logl(dYMN)/(AY/Y),] = - (1/3.0) logi/Y,)

(dY/Ypo/(dY/Y)=0,58,y=3,0, 14=1/3,0=0,33

(dYr Y A(dY/Y)=1,00 §=115,49 D,=-15,49

A -

(@Y duM=17 0 ,=100 dy= 2, 6G5 oTcation
» range

log[(dY/YY(dY/Y)]=0, m;=-0,33 1
I*4=50, d¥,=4,6Q dY,/Y,=0,2555
1v,=18

YR=3.67 Ya=90 T

log [(Y/AY) 1 (YIAY), )] CIELABNO relative

tistimulus value contrast
CelCru=(YIB(YIAY)y - 2y o 2100
I GIELABn0 =116 (Y/Y) 3 -16  (¥,=100,Y,/100<Y<=Y, )
log[(Y/dY)/(Y/dY) ] = (1/3,0) loglY/Y,)

(Y/dY)o/(Y/dY)=1,70,y=3,0, 14=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,00 §=115,49 D,=-15,49
(Y/dY, d(Y/dY =0,58 Y,=100 dY=4,60

application
range

VNE3601 Y =90 T,

log (L*) CIELABNO standard lightness L*
Y, b

L* he"L*w =

L* CiELABn0 =116 (Y/Y)3-16 (1,=100,Y,J/100<Y<=Y,

L* \(3,6)=23,L* ,(18)=50,L* /(90)=96

L*9¢=96,01,y=3,0, 1{=1/3,0=0,33
[*3 =22 55524971 Y18

1
1Y =18

MN=3,671 Yy =00 T

BEZ01-1A
logAY) CIELABNO

AY tristimulus value difference
YocrL*w ¢ - n=100,

L* CiELABn0 =116 (Y/Y)3-16  (¥,=100,Y,J/100<Y<=Y,

log(dY) = (1/3,0) log[3,0(,/115)] + [1~(1/3,0)] logY)

P!
L* =50, d¥,=4,60 dY,/¥,=0,2555 -~

A T o Rty
log(dY)=4,6Q m,=0,66 o
7 2 1
7 7 1
dYer=13,45,y=3 =, 14=1/3,0=0,33
dY;g=4,60 S~ 115 ,49 D=-15, b application
dY3 6=1,56 Y,=100 dY;= 460 1 range
ly,=18

Yn=3.6 1 Yy=90

BEZ01-3A
log AY/Y) CIELABNO

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

L* CiELABn0 =116 (Y/Y)3-16  (¥,=100,Y,J/100<Y<=Y,

log(dY/Y)= log[3,0(f,/115)] - (1/3,0) log{(/Y,)
= (1/3,0) log[3,0¢,/115)] - (1/3,0) log{)

Iog(dY/Y): 0,59 m,=—0. 33 = & application
* =50, dY,=4,6Q dY,/Y,=0,2555 ~-fapge
(dY/Y}g=0,1494y=3,0, 11,—1/3,(1 0,33
(dY/Y)g=0,2555 S,=115,49 D,=#15,49
(dY/Y} 60,4361 Y,=100 d¥;=4,60

y =18
Yn=3,6 1 Yy=90

BEZ01-5A
log (Y/AY) CIELABNO

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

log(Y/dY)= - log[3,0(/,/115)] + (1/3,0) log{/Y,)
- (1/3,0) log[3,0¢,,/115)] + (1/3,0) log{)

* =50, dY,=4,60 Y,/dY,=3
log(Y/dY)=0,59 m,=0,33 —

(Y/dY)y=6,69,y=3,0, 14=1/3,0=0,33
(Y/dY)g=3,91 S§=115,49 D; ,49 application
(Y/dY} 6=2,29 Y,=100 d¥;=4,60x range
y,=18
Ya=3,6  Y\y=90

BEZ01-7A
BEZO01-7N

L* for Y/Y, with additional dataYn=(Y&

Absolute and relative lightness, sensitivity and cont&st1 15,49, 1y=1/3,0=0,33

log (L*/L* ;) CIELABNO relative standard lightnessL*/L* ,

LHIL* Yoc=L*w - nc=100,

L* ciELABn0 =116 (Y/Y;) 30-16 (¥,=100, Y, /100<Y<=Y,,

L* y(3,6)=23,L* ,(18)=50,L*/(90)=96

L*gg/L* =1,93,y=3,0, 14=1/3,0=0,33
L*1gL*=1,0Q S=115,49 D,=-15,49
L*3¢L*,=0,45,L%=49,71 ¥=18

log[L*/L* ,]=0, m;=0,43

BEZO1-2A
log(AY/AY,) CIELABNO relative

tristimulus value difference
NN YomL*yy - =100,

L* CiELABn0 =116 (Y/Y;)Y30-16  (¥,=100, Y, /100<Y<=Y,,

log(dY/dY,) = [1~(1/3,0)] log¥/Y,,)

dYeo/dY,=2,92,y=3,0, 14=1/3,0=0,33
dY,¢/dY,=1,00 §=115,49 D,=-15,49
d¥3 ¢dY,=0,34 Y,=10Q dY=4,60

, dY,=4,60 dY,/Y,=0,2555 -~
et 60 dY,/¥, 70,2555
log[(dY)(dY),]=0, m=0,66 _ ~ “u
7 application
1 range
1

Y,=18

YN=3.6  Yw=90

BEZO1-4A
log [(AY/Y) | (AYIY),] CIELABNO relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc

L* CieLABn0 =116 (Y/Y;)Y30-16  (¥,=100, Y, /100<Y<=Y,,

log[(dY/M)/(dY/Y),] = - (1/3,0) log¥/Y,,)

(dY/Yyo/(dY/Y)=0,58,y=3,0, 1xr1/3 0=0333

(leY)B/(dY/IY =1.0q §=115,49 D,=-15,49

(@YYl g(dVIV=1,70 Y100 d\ﬁ 4, S%pncanon
range

log[(dY/YY(dY/Y),]=0, m,=-0,33
L* =50, dY,=4,60 dY,/Y,=0,2555 }
1v,=18

L* cieLaBno =116 (Y/Y,)30-16  (Y,=100, Y,/100<Y<=Y,,

YR=3.67 =90 T

BEZO1-6A
log [(Y/AY) I (YIAY),] CIELABNO relative

/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us valug contrast

nc

L* cieLaBno =116 (YY) Y3:2-16  (Y,=100, Y,/100<Y<=Y,,

10g[(Y/dY)/(Y/dY),] = (1/3,0) logiY/Y,)

(Y/dYbOI(Y/dY), 1 70 rs 0, 14=1/3,0=0,33
(YA ) g/(YIdY)= 15,49 D,=-15,4
(YIdYY J(YIdY o 58 Yn 100, dY=4,60

log[(Y/dY)(Y/dY) =0, m,=0,33
L* =50, dY,=4,6Q Y,/dY. .

application
range

Y,=18
NNE3601 Ya =90 T

BEZ01-8A

indino Ae|dsip Jo Juswainseaw Joj uoneoldde

Sd’/ 1X1'¥YN010Z39/0Z39-T0€0220¢ :uonensibal gni

9p02 :[eudrew gn.l

Y=




